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QUESTION 1

When would a Lookup transformation be classified as active?

A. When the setting for lookup policy on multiple match is Use Any Value
B. A lookup cannot be an active transformation

C. When the lookup is configured to return multiple rows

D. A lookup is always active

Correct Answer: C

QUESTION 2

Using the Properties view of a Session task from the Workflow Monitor, the reason for a session\\'s failure can possibly
be determined?

A. True
B. False

Correct Answer: A

QUESTION 3

Which one of the following transformations may be unconnected In a valid mapping? (choose one)
A. Lookup, stored procedure, external procedure

B. Lookup, stored procedure, Java

C. Java, lookup, transaction control

D. Transaction control, Java, lookup

Correct Answer: A

QUESTION 4
Which of following statements is valid for Dynamic lookups?
A. Dynamic caching cannot be enabled on a lookup that returns multiple rows per search

B. A dynamic lookup can only be used with insert mappings, i.e. no update strategies are allowed and the session
should be configured as Insert

C. A dynamic lookup must be cached and persistent
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D. It is possible to update and delete records in a dynamic lookup

Correct Answer: A

QUESTION 5

A Pipeline Normalizer transformation will reflect one input port for each occurs value which Is greater than
1.

A. True

B. False

Correct Answer: A
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